Unit 3

Set and Functions

Sr.
No.

Questions

C

D

The set builder form of the

111 .
set {1,5,5,;,---}5:

y
{x|x =—,n€E W}
n

{x|x= neW}‘/

2n+1’

1
{x|x= ,nEW}
n+1

{xlx=2n+1,new}

IfA = {},then P(A)is:

{3

{1}

{3}

i

fU = {1,2,3,4,5},
A=1{1,2,3}and

B = {3,4,5},
thenU — (AN B)is:

{1,2,4,5}v

{2,3}

{1,3,4,5}

{1,2,3}

If A and B are overlapping
sets, then n(4A N B) is equal
to:

n(A4)

n(B)

ANB

n(4) —n(AnB)Y

If ASB and B — A+ ¢,
then n(B — A) is equal to:

n(B)

n(A)

n(B) — n(4)v

If n(AuB) =50, n(4) =
30, and n(B) = 35, then
n(ANB)=

23

15v

40

If A={1,2,3,4} and B =
{x,y,z}, then the Cartesian
product of A and B contains
exactly __ elements.

12v

Muham AL

the value of f(a+1) is
equal to:

FS Ch

Given that f(x) = 3x + 1, if
f(x) = 28, then the value
of x is:

27

18

10

let A={1,23} and B =
{a,b}; two non-empty sets
and f:A —» B be a function
defined as i=
{(1,a),(2,a),(3,b)}, then
which of the following
statements is true?

f is injective

f is surjectivev’

f is bijective

f is into only

Solution of MCQs

1 | Elements are odd reciprocals = —
2 | Power set of empty set = {{ }} or {p}
3 |AnB={3},U-AnB={1,2,4,5}
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n(AnB) = n(4A) —n(AnB)
Let A= {12}
and B = {1}
4 AnB = {1}
Nown(AnB) =n(4) —n(AnB)
1=2-1
1l=1
5 B — A = elements only in B
= n(B) — n(4)
n(AU B) = 50, n(4) = 30, and n(B) = 35, then n(AnB) =7
n(AUuB) =n(A) +n(B) —n(AnB)
6 50 =30+35—-n(4AnNnB)
n(AnNnB)=30+35-50
a(An B)= 15
7 4 elements X 3 elements = 12
fla+1) =7
fx) =x*—3x+2
8 fla+1)=(@+1)?*-3(@+1)+2
fla+1)=(@?*+2@@)+(1)>—-3a—3+2
fla+t+1)=a*+2a+1-3a—3+2
fla+1)=a?—a
9 f)=3x +1=28=>3x=28—-1=>x =9
10 | Every element in B is mapped, so f is surjective.
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